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① The piece shouldn’t have a nose,
so eliminate C and D.
② The head should be in the bottom
right corner, so eliminate B.
③ The nose should face down, 
so eliminate A.

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen



Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen
Since the total length of the horizontal path is the same in each picture, 
the shortest overall path will be the one with the shortest vertical segment. 
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3 vertical segments
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5 vertical segments
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8 vertical segments
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4 vertical segments

Runzhi Chen
8 vertical segments
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The heart, rainbow, and circle are arranged in a specific order — eliminate A and D.

The point of the heart should face the rainbow — eliminate B.

The curve of the rainbow should match the curve of the large circle — eliminate C.
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Top layer: The rubber band touches all the cubes.
Bottom layer: The rubber band touches only the 3 middle cubes.
That means, at the bottom,  there are 3 cubes on the left and 3 cubes on the right that are not touched.
3 + 3 = 6
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The key from top to bottom should be a square, triangle, and circle.
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1 puppy weigh : 18-14 = 4 Kilograms
The dog weigh: 14 - 4 = 10 Kilograms
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When comparing the white and brown cubes, only one piece is unique to the brown set — the rest are the same as the white cubes.

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen



Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen

Runzhi Chen
Mark the number of white cubes in each column. Then, the total number of white cubes is 2 + 1 + 1 + 1 + 1 + 1 = 7.
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This is worst-case scenario problem. To ensure getting a white ball, consider the worst-case scenario.
Remove all balls of other colors under the white ball. 
Then, when you draw again, it will definitely be a white ball. 

Caclulate the number of balls of other colors under the white ball: 3+1+2+4=10; 
Drawing another ball now will definitely be a white ball. 10+1=11. 
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